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2016
ECONOMICS — GENERAL
Third Paper
Full Marks - 100

Candidates are required to give their answers in their own words as far as practicable
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The figures in the margin indicate full marks
Group- A
(Indian Economy - I)
Answer Question No. 1 and any other two questions from the rest

1. Answer any five questions : 2265
(a) What do you mean by economic dualism?
(b)  What is population explosion?
(¢)  What is parallel economy?

(d) State two measurers taken by Government of India to reduce income
inequality.

(e)  What is poverty line?

) Define tertiary sector.

(g)  What is disguised unemployment?

(h)  What do you mean by real national income?

2. Discuss the features of Indian economy. Discuss the causes of
underdevelopment of the Indian economy. 10+10

3. Discuss the relationship between population growth and economic
development in the context of Indian economy. Discuss the population control
measures taken by Government of India. 10+10

4. Discuss the trend of national income of India during the plan period. How

many types of dualism are found in underdeveloped country like India? 12+8
5. Discuss the achievements and failures of five year plans in India. 10+10
Group - B

(Indian Economy - II)
Answer Question No. 6 and any two questions from the rest

6. Answer any five questions : I1%5
(a) What do you mean by Green Revolution?

(b)  Define cottage industry.
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(c) Write two functions of NABARD.

(d)  What do you mean by industrial sickness?

(e) Write two features of industrial policy of 1991,

(n Mention two examples of direct tax in Indian economy.

(8)  Write two causes of Balance Payments deficit in India.

(h)  What do you mean by non-planned expenditure of Government.

7. What do you mean by land reform? Discuss the Jand reform measures taken
in India. Evaluate the progress of land reforms in India. 4+10+6

8. What is industrial dispute? What are the causes of industrial dispute in India?
Discuss the measures taken by government to settle the problems of industrial dispute

in India. 248+10
9. Discuss the role of commercial bank in Indian economy. Analyse the credit

control policy of Reserve Bank of India. 10+10
10.  Write short notes (any two) : 10x2

(a)  Union-State financial relation
(b)  Importance of foreign trade in Indian economy
(c) Sources of revenue of central and state governments

(d)  Role of Large-Scale Industries in India’s development.
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